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3.6 - Solving Exponential Equations
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a) 2°=32 For an equation to be true, both sides must be equal.
Q’)( . QS If a¥ =a’, then x =y except whena=-1,00r 1.
N .". Convert powers to a common base and solve by
M\Q_A/\ comparing exponents.
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) But what if we can't make the bases the same?

Not a problem this year! Next year, you will learn logarithms.
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Ex. 2 Solve.

a) 2% 42X =136 The x-values must be 'brought together' in order to solve.
This can be accomplished by dividing out a common factor.
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Homeweork
H1 - 6 (Pick dnd choose)
(%]fx+2 =4 E}f+ 12
(2-3}5: +2 - (22) 6x+ 12



